
                                                                    Exercise Sheet-5 

                                                                       Date: 08.06.20 

1)How many legs do the hen have? How many legs do 9  hens have altogether? 

2)A bus have 4 wheels .How many wheels will be needed for 7 buses? 

3)Mina’s father works 5 days in a week. How many days will   he work in 9 weeks? 

 

                                                                                               Solution  

1) 

We know, 

                       1 hen have  2 legs 

Therefore     9 hens have (2×9) legs 

                                              =18  legs 

Ans: 18 legs. 

 

2) 

                      1 bus have  4 wheels 

Therefore    7 buses have (4×7) wheels 

                                               =28  wheels 

Ans: 28 wheels 

 

3) 

                    1 week  Mina’s father work   5 days 

Therefore  9 weeks Mina’s father work (5×9)days 

                                                                       =45 days 

Ans:45 days. 

       


